ROYAL HIGH SCHOOL FP CRICKET CLUB SEASON 1979

1st X1

	K	. н. 5.	c.c.					1979	
APR.	14	A	PRESTWICK						OF
	15	A	ST. BOSWELLS						OF
	22	н	DUNDEE HS. FP.		76	2	73	* lo	V
	28	A	DUNFERMLINE		69	10*	70	2	L
	29	н	FERGUSLIE	(HAIG)	100	3	98	10*	V
MAY	5	H	HILLHEAD HS. FP		185	5*	97	10	V
	6	A	AYR						of
	12	A	GEO. HERIOT'S FP.	(F)	88	10	159	6*	L
	13	4	PERTHSHIRE	(5.m)	167	10	218	4*	L
	19	н	WATSONIANS	(E)	109	5	107	10	V
	20	н	KILMARNOCK	(HAIG)	153	6	152	8*	V
	23	A	LEITH FRANKLIN	@	124	8*	38	2	I
	26	A	CUPAR	(E)	141	8*	73	5	B
	27	н	WATSONIANS	(HAIG)	179	10	186	7*	L
	29	A	LEITH FRANKLIN	6	134	3*	78	9	\v
204	2	н	CARLTON	6	112	6	186	5*	D
	5	A	EDIN. ACADS	(6)	131	10	139	9×	L
	9	A	GRANGE	0	59	10*	60	1	L
	16	н	EDIN . ACADS	0	171	7*	161	8	D
	23	A	STENHOUSEMUIR	6	75	5	188	6*	I
	30	н	GEO. HERIOT'S FP.	(1)	153	10*	. 154	5	L
Jack	1	н	HOLY CROSS ACADS.		133	3	131	10*	V
	7	A	WATSONIANS	0	167	4	164	9*	V
	8	A	MELROSE						OF
	14	н	CUPAR	0	200	5*	162	lo	V
	21	A	CARLTON	6	100	10	174	6*	L
	28	н	GRANGE	0	107	2*	*	*	I
Aug.	4	A	EDIN. ACADS.	0	165	6	164	8*	V
	7	н	RUNAGATES		149	8	154	4*	L
	11	н	STENHOUSEMUIR	0	122	9	187	5*	I
	12	н	PRESIDENT'S XI						DF
	18	A	STIRLING COUNTY		145	8*	146	4	L
	19	A	KELBURNE		131	5	130	10*	8
	25	A	DUNBARTONSHIRE		124	10*	116	10	V
	26	A	UDDINGSTON		177	4*	120	9	V
SEPT.		н	PERTHSHIRE		70	8	131	9*	I
	2	н	WEST OF SCOTLAND		176	7*	73	10	V
	9	н	GALA						0
-	10,00								1
			P 00 111						
			P.32 W.14	D.8 L.	10 0.6				-

	979								
	719								
	RHS. CC	4192	RUNS	217	WICKETS	AVERNAE	19.31		
100									
	OPPONENTS	4089	RUNS	221	WICKETS	AVERACE	18.50		
		P	W	D	L	0		4	
	FRIENDLY MATCHES	- 11	7	1	3	6			
	JOHN HAIG	3	2		L G				
	MASTERTON TEAPHY	3	1	1	1				
	SHISH MAHAL	1			1				
		14	4	6	4				
	LEAGUE								
		32	14	8	ID	6			

	R.H.S. 0										979		
A	S. AITHE	2	2	ı	50	59	59.0	7		-77	A	100	1
	- BASHAM	1			17	17	17.0						1
	T. BISSETT	1		1	0*	0	0						
M	A. BRYDEN	30	30	1	105*	809	27.8	17		77	5	15.4	6
	A. BUTCHER	1	1	1	3*	3	3.0	11		47	1	47.0	
F	D. CHALMERS	28	16	2	35	145	10.3	2072	45	633	29	21.8	5
R	B. CRAWFORD	18	17		47	186	22.4	15		66	1	66.0	1
5	C. FARQUHARSON	17	15	2	60	177	13.6						8
	s. Fox	1	*	¥	*	*	*	63	1	23	1	23.0	
D	D. FRASER	26	17	4	45	208	16.0	319	80	791	57	13.8	5
	R. GRAY	8	5		10	16	3.2	86	15	289	8	36.1	1
D	R. HAMILTON	27	25	1	78*	600	25.0	312	3	126	lo	12-6	12
	. HAMILTON	26	24	10	51*	428	30.5						12
A	J. HUNTER	6	ı			0	0	583	9	209	15	13.9	1
	E. KINNEAR	15	6	2	4	5	1.2	863	13	309	17	18.1	2
P	H. LAPPING	15	15	5	62*	292	29.2						13
D	R. LAWRENCE	24	12	7	8	27	5.4	308	57	838	42	19.9	5
J	M. LEDINGHAM	6	3	1	8*	8	4.0	3	2	1		oc	
R	A. LIND	11	7	1	14	42	7.0						
1.3	W. MIKINLAY	1	*	*	*	*	*	3	1	6		œ	2
A.	. MORRISON	4	3		10	19	6.3	4		18		œ	3
6	. MUIRHEAD	1	,		25	25	25.0						
D	E. NUTTALL	15	10	2	26	100	12.5	85	19	243	13	18.6	2
A	AH. PRENTICE	1	*	*	*	*	*						
A.	JC. RED	1	,		4	4	4.0						
t.	s. Ross	30	28	5	67	3.16	13.7						8
4	IT. Ross	1	1		2	2	2.0						
	. SPENGER	3	3		12	17	5.6						1
1	K. THOMPSON	24	22	5	74*	226	13.2	404	9	165	7	23.5	12
a	S. WATSON	1	*	*	*	*	*						
D	S. WILLIAMSON	4	3	2	9*	20	20.0						Is
	V. WOODBORN	2		1	(*	1	1.0						3

									
APR	21	Н	MUSSELBURGH		139	4	138	8*	W
	28	н	THORN LIE BANK						OFF
and the same of th	29	H	DALGETY BAY		160	5*	64	lo	W
MAY	5	A	DUNBARTOHSHIRE A		61	1	60	*	W
Annual venicular	12	А	KIRKEALDY A	©	96	4	93	* o1	W
	19	Α	STEWARTS - MEL. A	(97	5	96	10	W
	20	н	EDIN . JUW. A		114	<u>*</u>	115	3	1
-	26	н	L. FRANKLIN A	(L)	53	9	106	10	L
JON.	2	H	CORSTORPHINE A		102	10	128	10	-
	3	H	MACCABI		92	10*	88	10	W
	9	н	HOLY CROSS ACEDS. A	(64	9*	59	10	W
	10	А	HADDINGTON		107	**	110	3	_
	16	А	EDIN. ACADS. A.	(96	10	133	10	
	17	н	WESTQUARTER		163	10*	156	9	D
	23	н	CARLTON A.	(1)	175	¥í O	176	5	-
	24	Н	TRINITY ACADS. A		236	4*	139	8	D
	30	Δ	PENIGUIK A.	(54	10 *	55	4	1-
ומרא	7	H	WEST LOTHIAU CO. A	(203	*	204	9	-
	14	A	HERIOT'S FP. A	©					OFF
	15	អ	ED. PAKISTAN ASSOC.		133	8*	135	9	-
	21	н	STENHOUSEMUIR A	(L)	94	9	157	9*	D
	28	Δ	WATSONIANS A	(L)	68	(O*	69	5	-
	29	н	STEWART'S - MEL. FP. XI		105	5	177	9*	D
ava	4	44	GRANGE A.	(L)	177	8	226	8*	D
	5	H	ST. MODAN'S US. FR.		•				OFF
	t i	H	JEDBURGH		87	**	50	10	W
-	18	н	HERIOT'S FP. A		•				OFF
	25	н	LETTH FRANKLIN A		20	8	147	7*	1
SEPT	ı	Δ	PENI CUIK B						off
	16	Α	ED. PAKISTAN ASSOC.		145	9	144	10	w

P. 25 W. 9 D. 5 L. 11 OFF. 5

ROYAL HIGH: 2840 RUNS: 195 WICKETS: AVERAGE 14.5 OPPONENTS: 3025 RUNS: 206 WICKETS: AVERAGE 14.6